Re\usmn
Whatam I?

(a) Iam the smallest one digit number.
(b) Iam the smallest three digit number.
(c) Icome between 299 and 301.

(d) Iam one less than 999.

(e) Iam the successor of 789.

Write the missing numbers from 516 to 535.

C@@

Write the missing numbers from 900 to 881 by counting backward.
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Fill in the missing numbers.
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has been done for you)

@ rxpand the following. (One
(@) 943=_9 _ hundreds+ __4__tens+ ___3 ones

I

B () 637-  hundreds+___ tens+ ones

<

7- 5 (c) 562=___ hundreds+_____tens+ ones
=

{ = (d) 329= hundreds + tens+______ones

Write the place value of underlined digits in each of the foll"

* e

| ' o Write the missing numbers in the following series.

(@) 633, , k y ’ 639

b) 19, ,

° Complete the table.

456

—————

e ———

Three hundred seventy one

245
799 T —

~—— Fourhundred four
F

651 *__“Wd ninety
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Fill in the hlanks.

| (@) The place value of 5 in 572 is 5 hundreds or

{b) The reduced form of 800 +20 + 7 is

(¢) The number that comes between 729 and 731 is

¥ SOIIVIWIHIVI

(d) The place value of in 198 is 9 tens or 90.

{®) The number that comes just after 399 is

Add the following.

@) 15 b) 14 (9 4[5} d) . 2/6
y1.7 +1.4 +4.3 +2.6
© 4 © 2@ 1| 0 1l
+39 +924 +1. 8 t1.6
Subtract the following,.
@ 7@ O 5@ © 2f8 (@ 488
- 35 -2.4 - 118 - 1§68
=51 h) 48!
@ g9 (f)  -8¢% (8) 76 ( 8
) ~ 5 543 -1 £61 — 5 aid — 2.9

@MW
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® (a) What comes just before:

- 79 4
LS] 789
: E'E 289 e
= 316 2
: 36
g é 178 D

a3 @ Write the greatest and the smallest 3-digit numbers formed
given digits: L

{ Digits l Greatest number

@ 9,54 @ )
®) 1,87 ¢ 9
©) 3,96 L )
) 4,0,3 C )
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A-digit Numbers

=
et
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 Begin

> have learnt about 2-digit and 3-digit numbers.

Two digit numbers have tens and ones.

Three digit numbers have hundreds, tens and ones.
The smallest three digit number is 100.

The largest three digit number is 999.

now that the largest 3-digit number is 999, but what happens if we add
t? 999 + 1. We write it as follows:

Thousands Hundreds  Tens Ones
9 9 9
gEs < 1

v o

o 0 0 0

1000 is the first four digit number.
e write 1000 in words as one thousand.

) the place value chart, the fourth place from the right is called the

ousands place.
e smallest four-digit number is 1000.

is equal to ten hundreds. Thus, ten hundreds = 1 thousand.

@m
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Reading 4-digit Numbers
We take a 4-digit number such as 2394.

Q (/T}Téusa;dh/'lmdreds\ ik Tens ™\ |/~ Ones

< N, 37 3 N 97 /0 INF T

E 2 thousands  3hundreds ' | 9tens | 4 ones ]
1 Thus, the 4 digit number 2394 is read as:

% Two thousand three hundred ninety-four

'Some more examples

| Number | Number Name Th|H|T|O
; ;
| 1001  |One thousand one 110]0]1
1002  [One thousand two 1{0(0]2
1003  |One thousand three 110|0]3
1999  [One thousand nine hundred ninety-nine | 1 | 9
2000 |Two Thousand
2001 |Two thousand one 0
3000 |Three Thousand 310010
4000 |(Four thousand 410|010 ;
9999  |Nine thousand nine hundred Ninety-nine| 9 | g 919
The largest 4-digit number js 9999.

_(©
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ample 1: Write the number names of the following.

(@) 2564 (b) 1489 (c) 8720 (d) 1065
lution: (@)  2564: Two thousand five hundred sixty-four

(b) 1489: One thousand four hundred eighty-nine

(c) 8720: Eight thousand seven hundred twenty

(d) 1065: One thousand sixty-five

ample 2: Write the numerals for each of the following.

PASOIYIWIHIYIN

‘-“. oL

(a) Five thousand nine hundred three
(b) One thousand eight hundred sixty-two
(c) Seven thousand seven hundred eighty
(d) Four thousand one
lution:  (a) Five thousand nine hundred three = 5903
(b) One thousand eight hundred sixty-two = 1862
(c) Seven thousand seven hundred eighty = 7780
(d) Four thousand one = 4001

Write th.e numerals for each of the following.

(a) Four thousand two hundred ninety-one

(b) Six thousand five hundred three

(c) One thousand one hundred eleven

©)
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(@) 7498

(d) Nine thousand two hundred

(e) Eight thousand six hundred forty-three
(f) Three thousand nine hundred four

o Write the number names of the following.

. MATHEMATICS

(b) 3523

(c) 6525

(d) 4569

(e) 9175

—_

T s sty

9 Write the number for each of the followi
ng.

(f) 4226

(@) 1thousand + 3 hundreds . 9te
ns

(b) 2 thousands + hundreds
(c) 7 thousands + 3 hi e
(d) 6 thousands + 7 hundre ds

(e) 3 thousands + 6 hun dred
S

(f) 9 thousands + 9 hun dred
S

__(©

+

3 tens
7 tens
6 teng

1 ten

9 tens

+ Sones =
+ 2ones = ?
* 90nes =
* 8ones = |

e -

* 6 ones

4 ones ot
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jigit Numbers on Abacus

-digit number '1000' is represented on abacus as follows:

s place there is no bead which represents 0 ones.

ens place also there is no bead that represents 0 tens.

ydreds place also there is no bead that represents 0 hundreds.
sands place there is only one bead that represents 1 thousand.

milarly, 3245 is represented on abacus as follows:

es place there are five beads that represent 5 ones.
ns place there are four beads that represent 4 tens.
dreds place there are two beads that represent 2 hundreds.

pusands place there are three beads that represent 3 thousands.

£
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-
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Exercise. 1B

o Write the number shown by each abacus.

AR ATILIT RS AT A",
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Value of a Digit in a Number

wce value of a digit in a number is the value of the digit itself at whatever i
it may be. b

5, face value of 7 is 7, face value of 9 is 9, face value of 4 is 4 and face
of 5is 5.

2 Value of a Digit in a Number
Value is the value of a digit based on its position (place) in the given

Thousands Hundreds Tens Ones
1000 100 10 1

7000 900 40 5

The face value and the plaoe value of 0is always 0 wherever it may be
in the number. &

©®)
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Wrrite the face value and place value Of:
(a) 6in9863 (b) 3in3785 (c) 1in91%2 S
(a) Arranging the number in the place value chart, We g
9 |8 16131 |
Thus, the face value of 6 is 6 and the place value is 6 tens Oi'
o (b) Arranging the number in the place value chart, we get
| Thi1HIT]O
B 8:] 7.1.8 |57

&

Thus, the face value of 3 is 3 and the place value is 3 thousands
or 3000.

(c) Arranging the number in the place value chart. we get

ThiH!T O ‘
91019 2.1
Thus, the face value of 1 is 1 and the place wvalue &
1 hundred or 100.
Expanded Form

The digits of a number can be expanded into its place value form and written
in the form of addition statement. This is called as expanded form of S
number.

Let us write the expanded form of a number 7945

7191415

7945 =7 thousands + 9 hundreds +4 tens + 5 ones = 7000 + 900 + 0+3

The opposite of expanded form is short form. Thus, the s . .
5000 + 300 + 20 + 4 = 6324, short form of
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mple:  Write the following in short form:
(@) 8000+ 700+ 50+ 6
(b) 6000 + 300 + 4
() 3000 +50+1
fon:  (a) 8000 +700+50+6
= 8756
(b) 6000 + 300 + 4
= 6304
(€) 3000 +50 +1
= 3051

=
et
.
m
=
=
®
A
o

;cessor of a Number

imber that comes just after a particular number is called its successor.
a successor of a number is always 1 more than the number.

dd 1 to the number to get its successor.
ample, successor of 1356 is 1357.
1ccessor of 4563 is 4564,

1ccessor of 2351 is 2352 and so on.

gecessor of a Number

lumber that comesjustbefore a particularnumberis called its predecessor.
S, a predecessor of a number is always 11ess than the number. We subtr

act
Om the number to get its predecessor.

Bxample, predecessor of 1234 is 1233,
‘predecessor of 2377 is 2376.
bredecessor of 1989 is 1988 and so on.

©)
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Remember! I ——————

R e
- o e,

{ © Zero has no predecessor.

© A number has only one successor and one predecessor.

Example:  Write:

|V
S
=
b~
>
I
=
=
N q
g2

= MATH EMATICS

(a) the predecessor of 6545

(-
Sy iy

ﬁﬁ-_.,.,
il
¥
£ N

(b) the successor of 8088

(c) the predecessor of 7360.

(b) the successor of 8088 is 8089.

1}

\

H i

43 _

i Solution:  (a) the predecessor of 6545 is 6544.
§

E (c) the predecessor of 7360 is 7359.
i

Skip Counting

When we count or write numbers after skipping a fixed gap between tw
successive numbers, it is called skip counting. For example, counting by
2’s means there is a gap of two numbers between two successive numbers
Similarly, counting by 10’s means there is a gap of ten numbers between tw
successive numbers.

= LTI TR T L AT

Skip Counting in 2's

1123 | 1125 | 1127 | 1129 | 1131 | 1133 | 1135 | 1137 | 1139 114‘1J

LR

| Skip Counting in 10's

| 2445 | 2455 | 2465 | 2475 | 2485 | 2495 | 2505 | 2515 | 2525 | 25%°)

a—

v
A e AT I am

e s i e S ey e e R L

Scanned with CamScanner



xample: Counting by 20's, write 5 numbers from 3918 onwards.

=
slution:  Starting from 3918, the required numbers are :?-E
3938, 3958, 3978, 3998, 4018. =
=
omparing Numbers &
hen the number of digits are different
t us compare 996 and 1039.
S 5
9 | 6 — 3-digit number
3 |19 |——4-digit number

e number with more digits is always greater.
us, 1039 > 996
en the number of digits are same

le 1: Compare the digits in the | Rule 2: If the digits in the thousands
thousands place. Let us place are same, compare the
compare 2256 and 1956. digits in the hundreds place.
Let us compare 4056 and
T e 4213
516 '
5 |86 H|T|O
410|156
So, 2256 > 1956 e} l
4=4
0<2
So, 4056 <4213

@
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N

Rule 3: If the digits in the thousands | Rule 4: If the digits in the thoy,

place and the hundreds place hundreds and teng ph;n N

are the same, compare the same, compare the &
) b & '81
O digits in the tens place. Let us in the ones place, Let
‘g_g compare 3250 and 3290. Compare 5624  and 562,
- H T O T|O
= 2 0 2 [
= 2 9 0 i 2 i

o "i}i 6=6
& 5<9 2=2 |
So, 3250 < 3290 4>2

So, 5624 > 5622

Rule 5: If the digits at all places are same, the numbers are equal. Let us

compare 3456 and 3456

O

J

So, 3456 3456

Ascending and Descending Order
When we arrange the numbers from the smallest

to the greatest, the numbers are in ascending order. HIT|O
Let us take the numbers 3225, 6324 and 9568. 21215
First we put these numbers in place value chart and g (2 /4

then compare the numbers. . 6_.6__ 8

Therefore, 3225 is the smallest number and 9568 is the greatest numb:r,g

_(©
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Hence, the numbers in ascending order are 3225 < 6324 < 9568.

When we arrange the numbers from the greatest to the smallest, the numbers

are in descending order. Let us take the numbers 3625, 5679 and 3735.

=
First we put numbers in place value chart and then compare them. ?:E'}
—— a3
Th|H[T][O T[O =
3625 2 |5 =
56|79 3|5 Q
B 7 3 |5

3 <5\ (7 = »

So, 5679 is the greatest. <7

So, 3625 < 3735 : o

Hence, the numbers in descending order are 5679 > 3735 > 3625.

Lets Ty

Example:

Solution:

Rewrite the following numbers first in ascending order and then
in descending order: |

4538, 4927, 5132, 2839, 1003

Ascending order r :-[* }‘P j]'& }t
Descending order[ _j'E J—E ]'t }t

First we put the numbers in place value chart.

On comparing the numbers we get H[ T [o
1003 < 2839 < 4538 <4927 < 5132 5 (3]s
Thus, i ding order the numbers = 2
us, in ascending  Em
can be written as ER
(71003 2839 J{ 4538 - 4927 J- 5132 | 0jofs

and in descending order the numbers can be written as

5132 14927 H- 4538 H-2839 {~1003 |
(5132 Jfa927 J--
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SRR, S S B B, SRS .

EXERGISERICE

Vol o Write the place value and face value of 8 in 3869.
9]
<

e Write the place value and face value of 0 in 9012.

4 (SN
RS 9 Write the place value of the digits given below.

4 <
| (@) (6]7]8 [4]0]9] © (71717
G, @B o

S
s O - L
84y ) =] ()

&% 4|
a4 2 ’0 Wrrite each of the following numbers in expanded form.

(@)2098  (b)3189  ()9715  (d)9876  (e) 7432

e Write the following in short form.
(a) 6000+800+30+4 (b) 4000+90+1  (c)8000+500+30+4

¥

(d) 1000 +800+9 (e) 5000 + 600 + 70 +3

o Fill in the blanks using >, < or =,

(@) 1525 2510 (b) 3515 5315
(c) 3815 3518 (d) 4637 4763
(€) 2145___ 2415 (f) 5001 5001

o Arrange the following numbers in ascending order.

(a) 4273, 3583, 4219, 7518 (b) 3625, 4368, 1458, 1225
(c) 4210, 2509, 3678, 6250

|
l
I _ ¥
|
l-. 4

- - 2 Ll ey B
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@ Arrange the following numbers in descending order.

(a) 6215,7013, 2158, 4216
(c) 3259, 2852, 5719, 6053

e Write the successor of:

(a) 5345

(a) 2352

Write the predecessor of:

Circle the greatest number.

Circle the smallest number.

(a) 4398 2078 2068 8234

(a) 3211 7443 2131 2375

(b) 4329, 3576, 2518, 5250

=
P
= ¥
m
=
e
(b) 7032 &
7
(b) 6543 o

s -
e, Rl

(b) 7461 7098 7762 6324

(b) 6132 2001 4300 1232

Fill in the missing numbers and complete the number grid.

1001

1003

1012

1025

1028

1033

1044

1047

@M
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REVIEWAEXERGISE

o Write the place value and face value of 0 in 3014.

o Arrange the following in ascending order:
1354, 2348, 3102, 1003

0 Arrange the following in descending order:
1035, 5034, 3210, 1001

.. MATHEMATICS

p @ Write the given numbers in expanded form:
" (a) 7036-= (b) 8001 =

Objective: To build the concept of place value in 4-
Materials Required: Glazed paper stri
Procedure:

1.

digit numbers.

ps— red, blue, green and yellow.w‘;

(&
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Roman Numbers

T AT T MO R T SRR A N

Let's Begin]

e Have you ever seen a clock like clock A? < g1 T ';\.,.
y \
¢ How are these symbols different from {-u "
the numbers in clock B? v e
e Can you tell the time in these clocks? <
Clock A Clock B

We have used the numbers 0, 1, 2, 3, 4, 5, 6, 7, 8, 9 to write any number
reviously. This is known as Hindu-Arabic number system.

Roman number system, we use 7 letters of the alphabet to write all the
indu-Arabic numbers.

RomanNumbers | I | V | X | L C D M
ValueinHindu- | | | 5 | 10 | 50 | 100 | 500 | 1000
Arabic Numbers
e can use combination of these seven letters to make different numbers
rom 1 to 39 but certain rules are to be followed:
ule 1: I, X, Cand M canbe repeated up to three times. The number so formed
is their sum. For example,
M=1+1+1=3XX=10+10=20
ule 2: V, L and D are never repeated.
ule 3; When we write a smaller Roman number after a greater Roman
number, their values are added. For example,
Vi=5+1=6 XI=10+1=11
XXII=10+10+1+1=22 VII=5+1+1=7

@M
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IATHEMATICS

XII=10+1+1=12

XXXVII=10+10+10+7 =37

VIII=5+1+1+1=8

IX=10-1=9

XV=10+5=15
XII=10+1+1+1=13

XIX=10+(10-1)=19

e g

e, g Sy

. When we write a smaller Roman number before a greater Roman
number, their values are subtracted. For example,

IV=5-1=4
A smaller number between two greater numbers gets subtracted from
the number on its right. For example,

XIV=10+(5-1)=14
XXIX=10+10+(10-1)=29

F 'Remember!]

' © 4isnever written as IIIL
© There is no symbol for zero in Roman number system. _
" O There is no concept of place value in Roman number system. f5t e

i A -.~.—.'-»-m—u—-—--«v\

Pl g e

Some Roman numbers with their corresponding Hindu-Arabic numbers are
given below. |

1
|

1.5

2%

10 |

I

II

X

S

128

XI

XII

XX

¥ ‘
i ) 2 E
3 ..Lx"‘ e
|3 e L

: C ' V
A G

* ¥
A e

A
T g 2
e B

]

Lk AR
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£
P
A
™
2
3
(R

Write the Roman numbers for the following Hindu-Arabic numbers.
(a) 4 (b) 26 (c) 15 d) 13 (e) 33
()11 (g) 30 (h) 18 (i) 7 G) 29

BAS:

Which of the following are meaningless?

(@) VvV (b) XIII () XXIV (d) IXVI (e) XIX
Fill in the place holders with > or <.

(@) 34[_Jxxxv ) xxax 20
© x[Jn d) xxxv )39

Solve and write the answers in Roman numbers.
@ vii+1v=__J (b) XVI-IX =
(¢ xmr-v=_] (d) XIxII =

Write the time shown in the following clocks.
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3 0 Write the Roman numbers for the following Hindu-Arabic numbers, %

% CA Yl RS (b) 20 (c) 18 , :%
LR e Fill in the place holders with > or <. i
. 1q:. | i
{

o Solve and write the answers in Roman numbers.

|
qAV .
Lo
5
e

| @ XVI+IX =(__ b Xi-m =]

Objective: To solve the Roman number sums and decode the message.

Bt Sl

Procedure:

m MM g 0

First solve the sums and change the answer into Hindu-Arabic numbers, the
find the letter from the code that matches each number. |

TN

X + IV =[] XX + VI =[] VvV +XV=[ ] j
VI + I =[] X + X =] V+w=j‘-€
XXV- VI =[] X -w="] xvs+vi=[].9
XX - VI =[]

Message:
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